
 

 
 
 

Spare Parts List Arcticsphere 

 

 

1 

 
 
 

Spheros North America, Inc. 
 

 

 

 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

 

Air conditioning system Spare parts list 
 
 
 
 
 
 
 
 

 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

05/2013 

Part No.550304A 

Arcticsphere 

IW 200/210/220 

CE 200 / 300 

SC 220 / 230 

RC320 / 430 / 440 



Spare Parts List Arcticsphere 

2 Spheros Climate Systems, LLC 

 

 

 

Arcticsphere  In-Wall Evaporators 
 
 
 

In-Wall 2oo........................................................................................................................   Pages 3-4 

In-Wall 210.......................................................................................................................    Pages 5-6 

In-Wall 220........................................................................................................................   Pages 7-9 
 
 
 

Arcticsphere Ceiling Evaporators 
 
 
 

CE 200..................................................................................................................................   Page 10 
    
   CE 300………………………………………………………………………….………………………………………………….   Page 11 
 

 
Arcticsphere  Skirt Condensers 

 
 
 

SC 220...................................................................................................................................   Page 12 
SC 230...................................................................................................................................   Page 13 
 
 
Arcticsphere                                            Roof Top Condenser 
 
RC 320 …...............................................................................................................................  Page 14 
RC 430/440………………………………………………………………………………………………………………………. Page 15 
 
Arcticsphere    Controls 
 
Manual Dash Control  
Relay Board ….......................................................................................................................  Page 16 

 



Spare Parts List Arcticsphere 

 
 

3 Spheros Climate Systems, LLC 
 

 

 

 
 

 
 

 
 

 
 

 
  

 

 
 

 
 

 
  

 

 
 

 
 

 
 

 
 

 
 
4 

 

IW 200 
 

1 2 
3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

6 
7 

5 

 

 
 
 
 
 
 
 

Item # Part Number Description QTY 

1 11116831A COVER IW200 1 

1 550319A COVER IW200 TB 1 

2 11116984A LOUVER 4 

3 11116985A SPHEROS DESIGN LABEL 1 

4 11116864A AIR FILTER GRID  1 

5 11116865A ALUMINIUM AIR FILTER  1 

6 11117527A KNURLED HEAD THUMB SCREW 1/4"-20 x1/2" 6 

7 11117526A CLIP ON NUT 1/4"-20 6 



Spare Parts List Arcticsphere 

4 Spheros Climate Systems, LLC 

 

 

 

IW200 
 

 
 
 
 
 
 
 

 

Item# Part Number Description QTY 

 11116725A RADIAL BLOWER 12V 2 

 80640A 0-RING  NW10 R134A 2 

 11116827A EXPANSION VALVE BLOCK 1 

 89669B SEALING RING NW41/4 S AE 1 

 11117282A LOW PRESSURE SWITCH 1 

 11117582A THERMOSTAT ICE PROTECTION 1 

 11117383A TEMPERATURE SENSOR 1 



Spare Parts List Arcticsphere 

 
 

5 Spheros Climate Systems, LLC 
 

 

 

 
 

 
 

 
 

 
 

 
  

 

 
 

 
 

 
  

 

 
 

 
 

 
 

 
 

 
 
4 

 

IW 210 
 

1 2 
3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

6 
7 

5 

 
 
 
 
 
 
 
 
 
 
 
 

Item # Part Number Description QTY 

1 11116842A COVER IW210 1 

1 550320A COVER IW210 TB 1 

2 11116984A LOUVER 4 

3 11116985A SPHEROS DESIGN LABEL 1 

4 11116828A ALUMINIUM AIR FILTER  1 

5 11116863A AIR FILTER GRID  1 

6 11117527A KNURLED HEAD THUMB SCREW 1/4"-20 x1/2" 6 

7 11117526A CLIP ON NUT 1/4"-20 6 



Spare Parts List Arcticsphere 

 
 

6 Spheros Climate Systems, LLC 
. 

 

 

 
 

 

IW 210 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Item # Part Number  Description QTY 
 11116724A RADIAL BLOWER 12V 2 

 11116827A EXPANSION VALVE BLOCK 1 

 80640A O-RING NW10 R134A 
 2 

 89669B SEALING RING NW4 1/4 S AE 1 

 11117383A TEMPERATURE SENSOR 
SENSOR 

 1 

 11117282A LOW PRESSURE SWITCH 1 

 11117582 A THERMOSTAT ICE PROTECTION 1 



Spare Parts List Arcticsphere 

 
 

7 Spheros Climate Systems, LLC 
 

 

 

 
 

 
 

 
 

 
 

 
  

 

 
 

 
 

 
  

 

 
 

 
 

 
 

 
 

 
 

 

IW 220 
 

1 2 
3 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4 5 

6 
7

 
 

 
 
 
 
 
 
 
 
 

Item # Part Number  Description QTY 

1 11116843A Cover IW 220 TB  
C2 

 1 

2 11116984A LOUVER  4 

3 11116985A SPHEROS DESIGN LABEL 1 

4 11116863A AIR FILTER GRID  1 

5 11116828A ALUMINIUM AIR FILTER  1 

6 11117527A KNURLED HEAD THUMB SCREW 1/4"-20 x1/2" 6 

7 11117526A CLIP ON NUT 1/4"-20 6 



Spare Parts List Arcticsphere 

 
 

8 Spheros Climate Systems, LLC 
. 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

IW 220 
 

 

1 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 
 

  
 
 
 
 
 
 
 
 
 

Item # Part Number Description QTY 

1 11116724A RADIAL BLOWER 12V 1 

2 11117582A THERMOSTAT ICE PROTECTION 1 



Spare Parts List Arcticsphere 

 
 

9 Spheros Climate Systems, LLC 
 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

IW 220 
 

3 
 

 
 
 

1 
 

2 
 

 
 
  

 
 

 
 
 
 
 
 
 
 
 

Item # Part Number Description QTY 

1 80640A O-RING NW10 R134A 2 

2 11116827A EXPANSION VALVE BLOCK 1 

3 11117282A LOW PRESSURE SWITCH 1 

4 11117383A TEMPERATURE SENSOR 1 
 

 
 
 

4 



Spare Parts List Arcticsphere 

 
 

10 Spheros Climate Systems, LLC 
 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
  

 
 

 
 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
  

 

 
 

 
 

 
 

 
 

 
 

 

CE 200 
 
 

10 
 

5 
 

 
6 

1 
   

2 
3 

4 
 
 
 
 
 

   9 
7 

 
 

8 
 
 
 
 
 
 
 

Item # Part Number Description QTY 
1 11116827A EXPANSION VALVE BLOCK 1 

2 80812A O-Ring NW8 R134a- resistant 1 

3 80640A O-RING NW10 R134A resistant 1 

4 11117282A LOW PRESSURE SWITCH  1 

5 11117539A Water Screen  1 

6 11114019A RADIAL BLOWER 2 

7 11117636A Cover Return Air Grid Evap. 1 

8 11117634A Cover Evap. CE200 2 

9 11116984A Louver 4 

10 11117541A Air filter Evap. CE200 1 

 11117383A Temperature Sensor 1 

 11117582A Anti-Freeze Thermostat 1 



Spare Parts List Arcticsphere 

 
 

11 Spheros Climate Systems, LLC 
 

 

 

 
 

 

CE 300 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
  
 
 
 
 
 
 
 
 
 
 
 

 
Item # Part Number Description QTY 

1 11118065A EXP-VALVE BLOCK TXV 1 

2 80812A O-Ring NW8 R134a- resistant 1 

3 80835A O-RING NU16 R134A resistant 2 

4 11117282A LOW PRESSURE SWITCH 1,8bar CPL 1 

5 11118049A Water Screen CE300 1 

6 11114019A 12V Radial Blower  3 

7 11118075A Cover Return Air Grid Evap. 1 

8 11118074A Cover Evap. CE300 1 

9 11116984A Louver 6 

10 11118076A Air filter Evap. CE300 1 

 11117383A Temperature Sensor 1 

 11117582A Anti-Freeze Thermostat 1 

1 

2 
3 

4 

10 

5 

6 

7 

8 

9 



Spare Parts List Arcticsphere 

 
 

12 Spheros Climate Systems, LLC 
 

 

 

 
 

 

SC 220 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Item # Part Number  Description QTY 

 11114150A HIGH PRESSURE SWITCH 24bar 1 

 11117482A FILTER DRIER W/SIGHT Glass 1 

 80641A O-RING NW13 R134A 2 

 24663A Union nut NW13 O-RING 1 

 11113525B Sealing plug O-Ring NW14 1 

 80640A O-RING NW10 R134A resistant 2 

 11113479A Fitting Part NW10 Brass 1 

 24662A Fitting Female 3/4 - UNF 1 

 92659B Clamp  2 

 11117484A Axial Fan 12V   2 

 80812A O-Ring NW8 R134a resistant 1 

 11117485A Support Filter Dryer 1 

 11117493A Protection Grid Axial Fan 2 



Spare Parts List Arcticsphere 

 
 

13 Spheros Climate Systems, LLC 
 

 

 

 
 

 

SC 230 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Item # Part Number Description QTY 

 11114150A HIGH PRESSURE SWITCH 24bar 1 

 11117482A FILTER DRIER W/SIGHT Glass  1 

 80641A O-RING NW13 R134A resistant 2 

 24663A Union Nut NW13 O-RING 1 

 11113525B Sealing Plug O-Ring NW14 1 

 80640A O-RING NW10 R134A resistant 2 

 11113479A Fitting Part NW10 Brass 1 

 24662A Fitting Female 3/4 - UNF 1 

 92659B Clamp Filter Dryer (70-90) 2 

 11117484A Axial Fan 12V 3 

 80812A O-Ring NW8 R134a-Resistant 1 

 11117485A Support Filter Dryer 1 

 11117493A Protection Grid Axial Fan 3 

 

 

 

 

 

 



Spare Parts List Arcticsphere 

 
 

14 Spheros Climate Systems, LLC 
 

 

 

 

RC320 

 

 

 

 

 

 

 

 

 

 

 

Item # Part Number Description QTY 
 11118003A Condenser Fan 12” 12V 1 

 68055B Condenser Fan Grill 1 

 11114237A Filter Drier W/Sight Glass 1 

 11114150A Pressure Switch 1 

 034-00309-000 Cover 1 

 

 

 

 

 

 

 

 

 



Spare Parts List Arcticsphere 

 
 

15 Spheros Climate Systems, LLC 
 

 

 

① 

③ 

⑦ 

④ 
⑤ 

② 

⑥ 

 

RC430/440 

 

 

 

 

 

 

 

 

 

 

  RC430 SL, 12V RC430 DL, 12V RC440 SL 24V 

ITEM DESCRIPTION  PART NUMBER  

1 Condenser Fan 12” 24V N/A N/A 91656B 

1 Condenser Fan 12” 12V  11118003A 11118003A N/A 

2 Condenser Fan Grill 68055B 68055B 68055B 

3 Filter Drier 11118093A 11118093A 11118093A 

4 Service Valve 5/8”  1102081B 1102081B 1102081B 

5 Receiver 11118273A 
RH – 11118100A 

LH – 11118101A 
038-00020-002 

6 Sight Glass 1103154A 1103154A 1103154A 

7 Solenoid Valve 12V 11118184A 11118184A N/A 

7 Solenoid Valve 24V N/A N/A 93510B 

 

 

 

 

 

 



Spare Parts List Arcticsphere 

 
 

16 Spheros Climate Systems, LLC 
 

 

 

 

Controls    

        

         

 

                         

                               

            

 

 

 

 

 

Item # Part Number Description QTY 
1 11116024A Manual Dash Control 3 Speed 1 

2 11117844A Relay Control Board 12V 1 

3 11115103A Control Relay 12/24V 1 

4 550307A Relay CB1-D-12V for W Relay Board 11 

 550295A Mating connector kit for RB 11117844A 1 

 

 

1

 

S

p

h

e

r

o

s 

C

li

m

a

t

e 

S

y

s

t

e

m

s

, 

L

L

C 

4 

2 

3 


